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Rabi Yehudoh and Rabi Yosee and Rabi Shimon prohibit it

Overview

The Xn>72 stated that w"71 °"7 "7 prohibit drinking the wine if 2"19n were not
separated before it is drunk. They argue with »"7 who permits it because he
maintains 77°72 >, however they prohibit it; indicating that they maintain 71X
7772, Our MdOIN reconciles our X3 with seemingly contradictory N7,

- (3,19 91 P2y 173990 Y92 P93 199 119593 19Y 1199 YD 2297 ywn
It seems that >'' does not agree to the concept of 77972, and similarly in %22 pa2

%291 it also appears so -
= 0591 11 A NYYNY YO JY HIINND RN 2113 %) VIV 2590w *3)

Regarding a case where one said, ‘the w''v» which I have in my house should be

exchanged for the first ¥»o which will come up in my hand from my wallet’ -
- %5950 NY SO %29 MINT

Where >''9 ruled that it was not exchanged; the w"v» remains w"v»n and the ¥%0
remains 7°211.

nooIN asks:
- 4’0’)3’7! IPIND NP 19 22D (%9 97 0p9) IWARY 202 1INT HYPI

And there is a difficulty; for the mw» taught in ¥IXY S» P79, regarding the

question; what is she in those days, where -
= 19102 P22719 N9992 Y RNIN NV 21 599 990 SHUINN NN HYINN AN YO 29

''9 rules, she is divorced and not divorced, and when he dies, the 1 is effective
(retroactively), proving that 77913 @, as the X723 infers shortly® -

" This is how the X3 initially understood the view of w"1 " *" (according to X*wwn 27).

* w"yn needs to be eaten in 25w, either by bringing the w"yn itself to 2°9e17 or by exchanging (91211 ,%onn) the
w"vn for silver coins (which now have w"vyn n17p) and bringing the coins to 02217 and purchasing food there to be
eaten in 0°7W17.

? We do not say that the ¥90 which actually came up is the ¥50 with which he intended to be Y%mn the w"yn, since >~
maintains 77°72 7°X. (He can always be mn it now, but his previous statement is ineffective.)

* The ;awn there on X,2¥ states that if one said, ‘here is your 03 as of today (21in), if I will die from this sickness’; if
he dies from that sickness, she is divorced. The 711w on X,3v asked, what is her status during that time, between the
giving of the vx and his death; what will be if someone lived with her, is she considered an ¥°X nwX or not.

%> questions whether he meant from today (so she is w1 retroactively), or he meant one hour before I die (so she
is not nw A retroactively to w1 nnl). It is a poo and if someone was with her 2 w3, he has to bring an *Y2n owx.

% See »3%1 1"7 *"wA. The question is, from the Xm3 in WKW *» it is apparent that 01 "1 maintains 7772 v, however
from the X3 here and in 1°217°Y 'on it appears that he maintains 77°72 7'X.
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mooin offers a partial answer:
= NYYP PINN NI4T INND YaN NN DYINN NPT NN 1I8Y NYTa 19N )3 7‘,751'\):‘1 N1

And according to the one who differentiates between one who relies on his own
mind (where we say 71772 1X), and one who relies on the mind of others (where
we say 17"M1 v), it is understood; however according to the one who does not
differentiate, there is this difficulty’ -

Mo0IN answers:
= 9107 IN NN IN 9912 INTIA 993NNY 9211 1Y PPV ONNT D YN

And one can say; that there by v, the issue will certainly be clarified, for

either he will live or die, therefore we say 772 v -
- Pgrnm 1 P90 NP NY IN D9IYY DY Y NI XIYW HPNY 9199 NN YaN

However here by 1> 127, it is possible that there will never be a separation (no
one [for some reason“]) will be n"n v 9n from this wine ever, or in the other

case mentioned, no ¥»o will come up from the wallet, therefore we say 77°72 X -
- HNIDYIN THNINYT 9Y SN 39) XOWN

And now the seeming contradiction from X2 on x»w will be resolved.

nooIN asks:
- 1311‘1’ﬂ2 159 1YY NN Y29 1 NyT N‘pbb"l INNIY NN

It is astounding! According to what we initially assumed that >''% does not

subscribe to 719992 -
- 53953 1Y AT PPN 4y MMPY 1PYNY PANA FIRT 1IN 399 930 )9 ON

7 This is ®w wn 27. See footnote # 1.

¥ The case of 1°0a is where he is 21X ny72 7N (he is relying on '7i; in whose hands all life is), therefore we say ”
7773, however here by 11 1> Y27 where he is ¥y ny72 7710 (it is he who will be separating the wine later), and
similarly by 02377 13 >7°2 7%vnw nn (where he is also ¥y ny7a 7210 [footnote # 3]) we say 771°02 PX.

 Why by 1> 197 and by w"yn, we say 77712 X, and by v3 we say 77772 .

' When we are certain that the issue will eventually be clarified, there is more reason to say that the clarification
takes place retroactively (717°72 @°); however if are unsure whether it will ever be clarified, there is much less reason
to say that when it was clarified, it is effective retroactively, therefore 77°72 PX.

' See 0"~ that perhaps 7171 ¥p2> or (by the ¥90) someone will steal the money.

12 See previous 127 7"7 ‘010 [TIE (text by) footnote # 20-22). We can say that by v where the issue will be
resolved (as stated here) we say i17°72 °, however by n°an which may never be divided, we say 7772 7'X.

" See footnote # 1.

'* A father dies and left over four fields for his two children, they divided the four fields each one taking two fields. If
we maintain 71772 'R, this means that we need not assume that the two fields which each son took is actually the two
fields he inherited. Perhaps he inherited fields 1 & 3 and he took fields 2 & 4. Rather what happened here was that
each son bartered his shares in his part of the inheritance for the actual fields which he is taking. So it is as if the two
brothers sold to each either their rights in the fields the other brother owns. When one sells an inherited field it
reverts back to the owner on 921, Therefore 137 'Y maintains that they must give back the fields on 921 to each other
and make a new division (with a new 93) should either of the brothers insist on a new division. However if we
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So he agrees with 337> 'S who maintains, brothers who divided the estate are
considered as buyers and must return their respective properties to each other

on »a -
- 193 93 ¥WINS 1Y 1N 93 TN IR °0391993 51T NNIYM NY 19 ON

So therefore we cannot find a case where any heir brings 2°712°2 unless he is the

sole son of a sole son up to the time of 11 32 Yy
- 3107 9901 13D INY (x5 9780 x23) TINNA Y IR AN 2299 199 193 KN 11Y PN
For the current owners of this field are mmP? (since 77°12 P°R) and they only have
a M0 PIp in this field, not a 737 773 and ' maintains in %277 P79 that 771
Mo is not'® the equivalent of m1a7 371 -
- Yooy N 09 124 22)
Regarding the rule of 2521 & 21 (a day or two days) —

NN continues to ask:
- 219593 PNT 920 XINT NIWD 9193 S0 5399

And there is also a difficulty regarding 5oy '3, for here he maintains 779393 X -
- 2oy IN B9 121 532 IND IN T 9NN 1937 M9 P3P IN A%V KPADM H2INNA)

And in %2777 79, regarding the rule of 2921 X 21, he is in doubt whether 71p

n99p is like 1137 391, or not -
— (4, 91 1apY) NIIVN 91D D7YN P97 NIN) INND)

maintain 77" w° then 20w PnNT are PwAY; the land they took is verified as the land they inherited; there was no
exchange so they can keep it for posterity.

' This means that he cannot be X721 X271 (see footnote # 18), however he can certainly be X71p 11°R) X°2n.

' If the current owner is the sole heir of his father and his father from his father up to 1172 ywi (when the land was
allocated), then he could bring 0132 for he is certainly the owner of this field; otherwise he is not obligated to bring
0°7152 as N1BOIN continues to explain.

' The heirs are obligated to return the fields to each other on 221 because they are merely mmp; meaning that they
can eat the produce of the land until 727, but they do not own it outright. This is called s 11p.

18 If we maintain that *»7 A7 17199 W2 MO IR, one cannot bring >33 from land in which he has only ns 1°1p,
because he cannot say 13152 DRI WK MTRT 0 NWRIN DRI 73T (see °,10 [Xan] 0°927), since it is not his.

' The rule is that if someone hits his *1v13 72y and the 72y did not die until after twenty-four hours, the owner is not
an 271 even if he dies because of the wound inflicted by the owner (see X2 2,83 [@'wawn] mnw). The case in the
X1 there is when 72187 sold his w13 72y to 7Ww»w and he made up that for the next thirty days the 72v would
continue to work for 121X7. In this thirty day period 17w»w has a 7137 13p in this 72¥ (he bought him), and 721%7 has a
M7 71p (the 72y works for him). >"1 rules that if 1w»w hits the 72y and he dies after twenty four hours he is 715
since it is his 72y (he has a 71371 1°12); however if 12%7 hit him and he dies (because of the wound) after the twenty-
four hours, 12187 is 70> 21 for it is not his 72y since A7 MAT PIPI W M0 PIp

0 See footnote # 1. Therefore he must also maintain that 17 MmP> 21w PR, so the only way they can bring 2132
is if we maintain (with certainty) that “»7 9147 112 M17°9 1P, however *"7 is not sure as N190IN continues.

*! See footnote # 17. °01 "1 maintains that both 72187 and 1w»w are exempt from 7n°» by o X av, for we cannot kill
them since perhaps >»7 7137 17175 N0 1°3P (S0 JAIRT is WD), or AT AINT %P3 WY (so 1WnW is 1wd). He is not certain.
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And the 87723 in the end of r>wr7 1o similarly makes this inference 2.

Nv0IN answers:
- 2xnbya 171959 PN D995 IN 09 PTIT PN 13929 XM
And the >''9 answered that we cannot derive from the rule of 21 R av»

regarding elsewhere whether 7 71377 1°3p2 170 PIp or not -
- ®ynnm 1905 *xap v25n97 onn sINYT

For there it is different since the 292102 read %> (his money) and »nnn (under
him) -

- TannN nTUT ROND SN0 53 NIYHA 1Y 1N XY 3919
And therefore the X3 in 19w P19 does not cite the nP12rn regarding *1v10 72V,
when he cites the ruling of >"1 regarding a 77X 77w,

moon offers an alternate answer:
= 93292 1Y N PPINNT YD N 93N 229 NPITT PNNY 13929 99N TV

And additionally, says the >''2 that only °''1 maintains that onw PnXn are

Ba1a 7 7T PR (because they are Mmph) -
= 19991 PN )N MHMPYT 23 HY N 2920 ININN INY YaN

However the rest of the 2°%71”K maintain that even though that the W»onw oonx

are mymp®, nevertheless there are not ®2ma 7% 71 PR -
- BmnpY 0N A1 12¥57 19990 PRT NOD 29NN NPT

For it is a 23277 9913 that the 50w 2°nX are not 171, for in this regard (of

927°), they are not considered nmpY, but rather as w7 -
=10 NY’Pa 0N [(P71992 2297] MYV W9 129201 9207 )N 2N

2 The X3 there states that 117 1 who maintains 7 mMmMpY ponw Prra (because 77°72 1X) must maintains that 1°1p
T AINT PP Mo, otherwise only a ¥ 7¥ 717 72 71 would be eligible to bring 0°7132!

Btis possible that by o»1 W 01° we maintain >»7 7137 1°322 X7 M7 1Ip therefore the one who has M7 1°3p is 2°°m,
but that does not mean the elsewhere he cannot maintain that N7 °1p is M7 717 1IP2.

X0 9,80 (D°vown) Mrw reads; op; X2/7AY> DRI IR O OX T8 X .0pY 0PI 1T MED M LW DK DX IR 1729 DR TR 7192 09)
X7 9992 72

2 Therefore even if we maintain a7 AT PIP2 M1’ IR, nevertheless 1WA (the owner) is still 7wy, since it is 1D02.]
® Even if we maintain *n7 TINT PIPD WY M 7Ip elsewhere, nevertheless here 72187 will be Mo since the 72V is
1nnn; he is working for him. [And according to "01 " both are Mvd; one because it is 1903 and the other because he
is N, ]

" The xn3 there discusses whether "7 AT PIP2 MO AP or not, and it cites the case of A1NR 77w whether NRA
17 MIMIPY WPoNw or on 2w, but it does not cite the npYonn regarding 2% W oY by an *1w13 72v. The reason is that the
case of om X o1 is distinct because of the nrn 0’109 and 1902. Therefore there is no question on *" 7717 ", for
even though they maintain 772 1K and therefore 17 mmph @onw 1rxn, nevertheless they bring 0132 since they
both can maintain 17 7137 12 M0 PIp (despite what they say regarding 21 WX 21 [see footnote # 24]).

2 Therefore even though *01° " 7797 " maintain 7712 PR and 17 MMPY P2Nw 1R, nevertheless since they are not
9212 197 1°m, there is no problem with 0°115°3, since it is their field for posterity.
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And 3217° ' who maintains vﬁ’rm:,” he will explain the reason of >''1 regarding
7 n17n that one may not drink is because of the concern for perhaps the barrel

will burst, but not because >"7 maintains 7772 X -
= 119593 NI 2299 Y TN 1IN 22997 (x,00 91 xnp Na3) )2 PIVNTD

As the X713 concludes in ;72y9% P79 that '3 maintains 57992 v, according to '

1M -
$NMWYNRI XYM 12 3N 53193 DY DT 1995100 11 MNPY 1PINY PANT NN N¥NN TINM)

And it is precisely on account of this same ruling which 71171 "7 maintains that
Haya ''HT PN 3T NIMPR PR 1IN, that caused 11 ' to retract from his
initial thought.™

Summary
We are more likely to say 7712 w° if the issue will certainly eventually be

resolved. One may maintain generally that 7127 1322 N17%9 1P, and nevertheless by
QM1 W 21 it may be different. One may maintain 777°72 7°X and nevertheless the 7nX
WPoNY are not 2212 197 1IN,

Thinking it over

Moo poses a contradiction between our X713 where "7 maintains 77°72 7°X, and by
v where he maintains 7112 v°.”' However the one who explains that the reason of
"3 1s because of 772 PR, that 1s RXWIWwn :1‘1,32 and X°wwn 20 differentiates
between MxyY nyTa 7910 and 20X nYTa 790> so there is no question. X271, who
does not differentiate between MXY NY72 7910 and 2R DY 7910, maintains that
the reason of °"7 is ¥p2> Xnw, but not that 77°72 PR, so again there is no question!
According to whom is M0 asking his question?!

2 According to °"1 that 2212 1"21 P°1n how can " 771 ' maintain 77°72 PR since they maintain R? N 1°Ip
M7 A7 72 (by o W ar), according to this answer, therefore we must conclude that a1 "3 explains 7777
differently.

30 q3m 9 initially suggested that the X073 be changed from vp2371 93 to wpn»i 95 (which would mean 7772 v”);
however he had to retract since he himself maintains 37 MMpP? P2nw 1PrRa (meaning that 7°72 PR). This same ruling
will cause that the reason of 71717 ' is not because 777°72 X, but rather because 71177 ¥p2> Xhw.

3! See footnote # 6.

32 See footnote # 1.

3 See footnote # 7.
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